Приложение- 1 :

Упражнения 1-3  (карточка).

№1   а)    S³· S² =            б) (-5)
[image: image1.wmf]5

·(-5)
[image: image2.wmf]4

=               в) 7
[image: image3.wmf]3

·7
[image: image4.wmf]2

·7
[image: image5.wmf]5

=                 г) 11·11³ =                              (помощь: 11 = 11
[image: image6.wmf]1

, х =  х 
[image: image7.wmf]1

)
 №2.  а)    
[image: image8.wmf]=

5

8

С

С

                б) 
[image: image9.wmf]=

9

7

5

5

                в) 
[image: image10.wmf]=

-

-

0

4

)

2

(

)

2

(

                                                                            (помощь: (-2)
[image: image11.wmf]0

= 1, х
[image: image12.wmf]0

= 1)
           №3.   а)     (K
[image: image13.wmf]5

)
[image: image14.wmf]4

=                      б) ((-2)²)³=                     в)    ( 3³)
[image: image15.wmf]2

=        


































PAGE  
1

_1296450627.unknown

_1296465061.unknown

_1296465279.unknown

_1296465345.unknown

_1296467577.unknown

_1296467595.unknown

_1296467318.unknown

_1296465310.unknown

_1296465209.unknown

_1296450690.unknown

_1296464943.unknown

_1296450643.unknown

_1296450554.unknown

_1296450603.unknown

_1296450323.unknown

